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) AAFAEATATERE] S2 I AR 18 S T AR UL 4 (retraction).
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(1) T4T2, 2) {(x,y)|x =00r y =sin(1/x), x > 0},

(3) B(0,1),  #®{(x,y)|y =00r x e N},

(5)S2 A 8%, (6) R2\C, CH—EK,
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1. 55— EUEANEE AT B 40 = 1]
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Fiv (154)) %X C R*EZIEFHFOMHETE, BHlxe X © —x e X. FXd : X x X —> R

d(x,y) = max{dg(x,y),dg(=x,y).dg(x,=y)de(=x,=y)},
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(D) dEBNX LRIEE? IEHRALE R
(2) BTRX EHESEB, (x) = {y|dx,y) < r}VEREHIS, HTRESE a2 2

5 Hausdorff? HFFARIIZE 8.

(3) FEX EENFEM K Fx ~y & d(x,y) =0. ELETHXo 1= X/ ~R TR To. 1EH

EXo B E, MEHA KK EERINEL 2T,
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BUX, Tx). (Y, Ty) =2 thdh 1]

(1) KX x Y _ERaRFRIR .

Q) UEM: X x YBH), WXZERM.

(3) iERH: #X x Y &Z&Hausdorfflt], N X f&Hausdorfff] .
4) WA, BARINX, YIITH, WEW: AxB = AxB.
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Xfx € R", r > 0, EXS(x,r)&Ux B0, roA PR, MMERLHa, & XLp, =
;o ,0)eRT, 0> 2.

() HEX, = S(p1, 1) U S(pa, 2) FEARE;

Q) HEX, = S(p1, 1) U---U S(pn, n)FEARFE;

B) HH Xoo = Upsy S(pn, n) FIFEATE.
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can find b € m,umum-g
In other words, the point (a(b), b) is a i
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